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Instructions ( } Z/

* Answer ALL questions. Write your answers in the spaces provided.
*  Show your working to get marks. You may use a non-pro

¢ scientific calculator.

Question 1

CLO2,C3 [6 marks]
Let P(n) is the statementof 1 + 4+ 7+ 10+ -+ (3n—2) = n(3n—1)‘ where n is all positive
integer.

(a) Show that P(1) is true.
(b) Complete the inductive step.

Question 2
CLO2,C2 [4 marks]
Suppose f is recursively defined by f(0) = land f(n+ 1) = }%+ 3f(n).
Count f(4).
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Instructions Q/k/
»  Answer ALL questions. Write your answers in the spaces provided.

* Show your working to get marks. You may use a non-programmable scientific calculat

Question 1

CLO2;E3 [6 marks]
Let P(n) is the statementof 1 + 4+ 7+ 10+ -4+ (3n—2) = M, where n is all positive
integer.

(a) Show that P(1) is true.
(b) Complete the inductive step.

Question 2

CLO2, C2 [4 marks]
Suppose f is recursively defined by f(0) = 1and f(n + 1) = % + 3f(n).

Count f(4).
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Instructions

*  Answer ALL questions. Write your answers in the spaces provided.
»  Show your working to get marks. You may use a non-programmable scientific

Question 1
CLO2,C3 [6 marks]
Let P(n) is the statementof 1 + 4+ 7+ 10+ -+ (3n—2) = n(3z_1), where n is all positive
integer.

(a) Show that P(1) is true.

(b) Complete the inductive step.

Question 2
CLO2, C2 [4 marks]

Suppose f is recursively defined by f(0) = 1and f(n + 1) = f%i + 3f(n).
Count f.(4). d
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Instructions
» Answer ALL questions. Write your answers in the spaces provided.
*  Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1

CLO2,C3 [6 marks]
Let P(n) is the statementof 1 + 4+ 7+ 104 -4+ 3n—2) = n—(3n—_1), where n is all positive
integer.

(a) Show that P(1) is true.
(b) Complete the inductive step.

Question 2
CLO2, C2 [4 marks]

Suppose f is recursively defined by f(0) = 1and f(n + 1) = f_(_) +3f(n).
Count f(4).
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* Answer ALL questions. Write your answers in the spaces provided.
*  Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1
CLO2, C3 [6 marks]
Let P(n) is the statementof 1 + 4 + 7+ 10 + -+ (3n— 2) = ”(3’21‘1), where n is all positive
integer.

(a) Show that P(1) is true.

(b) Complete the inductive step.
Question 2
CLO2,C2 [4 marks]
Suppose f is recursively defined by f(0) =land f(n + 1) = % + 3f(n).
Count f(4).
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Instructions
* Answer ALL questions. Write your answers in the spaces provided.
»  Show your working to get marks. You may us on-programmable scientific calculator.

Question 1

CLO2;C3 [6 marks]
Let P(n) is the statementof 1 + 4+ 7+ 10+ -+ (3n—2) = G171 where n is all positive
integer.

(a) Show that P(1) is true.
(b) Complete the inductive step.

Question 2
€102, 62 [4 marks]

Suppose f is recursively defined by f(0) =(1 and f(n + 1) = - ( ==+ 3f(n).
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Instructions
* Answer ALL questions. Write your answers in the spaces provided.

*  Show your working to get marks. You may use a non-programma ientific calculator.

Question 1

CLO2,C3 [6 marks]
Let P(n) is the statementof 1 + 4+ 7+ 10+ -4+ (3n—2) = M, where n is all positive
integer.

(a) Show that P(1) is true.
(b) Complete the inductive step.

Question 2
CLO2, C2 [4 marks]
Suppose f is recursively defined by f(0) = 1land f(n + 1) = f—(z;) + 3f(n).
Count f(4).
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Instructions '

*  Answer ALL questions. Write your answers in the spaces provided.
* Show your working to get marks. You may use a non-programmable scien

<

)
¢ caléulator.

Question 1

CLO2,C3 [6 marks]
Let P(n) is the statementof 1 + 4+ 7+ 10+ -4+ (3n —2) = M, where n is all positive
integer.

(a) Show that P(1) is true.
(b) Complete the inductive step.:

Question 2
CLOZ, C2 [4 marks]
Suppose f is recursively defined by f(0) = 1and f(n+ 1) = % + 3f(n).
Count f(4).
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Instructions
* Answer ALL questions. Write your answers in the spaces pro
* Show your working to get marks. You may use a non-programm ientifiecalculator.
Question 1
CLO2,C3 [6 marks]
Let P(n) is the statementof 1+ 4+ 7+ 10+ -4+ (3n—2) = M, where n is all positive
integer.

(a) Show that P(1) is true.
(b) Complete the inductive step.

Question 2

ClLB2, 2 A
Suppose f is recursively defined by f(0) = land f(n + 1) = f%g +3f(n).

Count f(4).
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